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1. The basic functions of management are :

(A) Planning and organization

(B) Directing and programme

development

(C) Personal management and

financial management

(D) All of the above

2. Which of the following is the first step in sports

programme?

(A) Directing

(B) Staffing

(C) Planning

(D) Budgeting

3. The first step in planning process is :

(A) Resource mobilization

(B) Determination of objectives

(C) Constraints identification

(D) Evaluation of alternatives

4. Who is responsible for office management?

(A) Receptionist

(B) Managing director

(C) Office manager

(D) Chief executive officer

5. Must seek advice in sports equipment

purchase :

(A) Headmaster's

(B) Physical Education specialist

(C) Admin's

(D) All of the above

1. izcU/ku ds cqfu;knh dk;Z gSa %

(A) ;kstuk vkSj laxBu

(B) funsZ'ku vkSj dk;ZØe fodkl

(C) O;fDrxr izcU/ku vkSj foÙkh;
izcUèku

(D) mi;qZDr lHkh

2. fuEufyf[kr esa ls dkSu lk [ksy ds dk;ZØe
esa igyk dne gS\

(A) lapkyu djus okyk

(B) LVkfQax

(C) ;kstuk

(D) ctV

3. fu;kstu izfØ;k esa igyk dne gS %

(A) lalk/ku tqVkuk

(B) mn~ns'; dk fu/kkZj.k

(C) ck/kkvksa dh igpku

(D) fodYiksa dk ewY;kadu

4. dk;kZy; izca/ku ds fy, dkSu ftEesnkj gS\

(A) fjlsI'kfuLV

(B) izcU/k lapkyd

(C) dk;kZy; izca/kd

(D) eq[; dk;Zdkjh vf/kdkjh

5. [ksy midj.k Ø; esa lykg ysuh pkfg, %

(A) iz/kkuk/;kid dh

(B) 'kkjhfjd f'k{kk fo'ks"kK dh

(C) O;oLFkkid dh

(D) mi;qZDr lHkh
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6. What is included in the Human system?

(A) Manager

(B) Staff

(C) Students

(D) All of the above

7. What is required for successful planning?

(A) Proper use of resources

(B) Goals approved

(C) Work efficiency

(D) All of the above

8. Administration is required :

(A) For the experimental

(B) For the right environment

(C) To keep low expenditure

(D) All of the above

9. Which of the following is not a part of the

organising process?

(A) Assignment of responsibilities

(B) Establishing reporting

relationship

(C) Specialisation

(D) Division of work

10. Organising doesn't include :

(A) By whom will be done

(B) When will be done

(C) What will be done

(D) How will be done

6. dkSu ekuoh; O;oLFkk esa 'kkfey gSa\

(A) izcU/kd

(B) deZpkjh

(C) fo|kFkhZ

(D) mi;qZDr lHkh

7. lQy ;kstuk gsrq D;k vko';d gS\

(A) lk/kuksa dk mfpr iz;ksx

(B) y{;ksa dh Lohd̀fr

(C) dk;Zdq'kyrk

(D) mi;ZqDr lHkh

8. iz'kklu dh vko';drk gS %

(A) iz;ksxkRedrk ds fy,

(B) mfpr okrkoj.k ds fy,

(C) viO;; de j[kus ds fy,

(D) mi;qZDr lHkh

9. fuEufyf[kr esa ls dkSu lk vk;kstu izfØ;k
dk fgLlk ugha gS\

(A) ftEesnkfj;ksa dk vlkbuesaV

(B) fjiksfVZax lEcU/k dks LFkkfir djuk

(C) fo'ks"kKrk

(D) dk;Z dk foHkktu

10. vk;kstu esa 'kkfey ugha gSa %

(A) fdlds }kjk fd;k tk;sxk

(B) dc fd;k tk,xk

(C) D;k fd;k tk,xk

(D) dSls fd;k tk,xk
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11. The literal meaning of Administration is :

(A) Service for the benefit of others

(B) Altruism

(C) Help

(D) To punish

12. The word 'Administration' is taken :

(A) From Latin language

(B) From German language

(C) From Arabic language

(D) From Swedish language

13. Some people work together to achieve a

certain goal, what is a group of such

people called?

(A) Group

(B) Organization

(C) Management

(D) None of these

14. Which of the following facts is related to

the principle of organization and

administration of Physical Education?

(A) Humanitarian base

(B) Organization of human elements

(C) Parental support

(D) All of the above

15. Which of the following elements is related

to organisation administration?

(A) Staff

(B) Work division

(C) Directing

(D) All of the above

11. ^iz'kklu* dk 'kkfCnd vFkZ gS %

(A) nwljksa ds fgr ds fy, dh xbZ lsok

(B) ijksidkfjrk

(C) lg;ksx

(D) n.M nsuk

12. ^,MfefuLVªs'ku* 'kCn fy;k x;k gS %

(A) ySfVu Hkk"kk ls

(B) teZu Hkk"kk ls

(C) vjch Hkk"kk ls

(D) LohfMl Hkk"kk ls

13. dqN yksx ,d fuf'pr y{; dks izkIr djus
ds fy, feydj dke djrs gSa] ,sls yksxksa ds
lewg dks D;k dgrs gSa\

(A) lewg

(B) laxBu

(C) izca/ku

(D) buesa ls dksbZ ugha

14. fuEufyf[kr esa ls dkSu lk rF; 'kkjhfjd
f'k{kk ds laxBu vkSj iz'kklu ds fl)kUr
ls lEcfU/kr gS\

(A) ekuoh; vk/kkj

(B) ekuo rRoksa dk laxBu

(C) ekrk&firk dk leFkZu

(D) mi;qZDr lHkh

15. fuEufyf[kr esa ls dkSu lk rRo laxBu vkSj
iz'kklu ls lEcfU/kr gS\

(A) deZpkjh

(B) dk;Z foHkktu

(C) lapkfyr djus okyk

(D) mi;qZDr lHkh
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16. 'No one on the organisation should have

more than one boss' is a statement of :

(A) Principle of specialisation

(B) Principle of Authority

(C) Principle of unity of command

(D) Principle of span of control

17. Which of the following is not a principle of

ogranisation?

(A) Principle of exception

(B) Principle of balance

(C) Principle of complexity

(D) Principle of co-ordination

18. As per the principle of balance, there

should be balance between :

(A) The activities

(B) Authority and responsibility

(C) Standardisation of procedures

and flexibility

(D) All of the above

19. The following is not a type of organisation

structure :

(A) Line organisation

(B) Functional organisation

(C) Line and staff organisation

(D) Flexible organisation

20. Departmentation leads to grouping of :

(A) Activities

(B) Personnel

(C) Both (A) and (B)

(D) None of these

16. fdlh Hkh laxBu esa ,d ls vf/kd ckWl ugha
gksus pkfg,] dFku gS %

(A) fo'ks"krk dk fl)kUr

(B) vf/kdkj dk fl)kUr

(C) vkns'k dh ,drk dk fl)kUr

(D) fu;a=.k dh vof/k dk fl)kUr

17. fuEufyf[kr esa dkSu laxBu dk fl)kUr
ugha gS\

(A) viokn dk fl)kUr

(B) larqyu dk fl)kUr

(C) tfVyrk dk fl)kUr

(D) leUo; dk fl)kUr

18. larqyu ds fl)kUrksa ds vuqlkj larqyu
fuEu ds e/; gksuk pkfg, %

(A) xfrfof/k;ksa

(B) larqyu vf/kdkj vkSj ftEesnkjh

(C) izfØ;kvks a vkSj yphysiu dk
ekudhdj.k

(D) mijksDr esa ls dksbZ ugha

19. fuEufyf[kr esa laxBu lajpuk dk izdkj
ugha gS %

(A) ykbu laxBu

(B) dk;kZRed laxBu

(C) ykbu vkSj LVkQ laxBu

(D) yphyk laxBu

20. foHkkx ____ ds lewgu dh vksj tkrk gSA

(A) xfrfof/k;ksa

(B) dkfeZd

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
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21. Need of education plan is :

(A) At the central level

(B) At the provincial level

(C) Both (A) and (B)

(D) None of these

22. Meaning of supervision is :

(A) Reform of institutions

(B) Teacher's development

(C) Pedagogy reform

(D) All of the above

23. Supervision is :

(A) Remedial

(B) Regular

(C) Democratic

(D) All of the above

24. The scope of supervision is :

(A) General Administration

(B) Educational work

(C) Supervision and research

(D) All of the above

25. Main feature of supervision is :

(A) Short-term

(B) Suppressive

(C) Collaborative

(D) Formal

21. f'k{kk ;kstuk dh vko';drk gS %

(A) dsUnzh; Lrj ij

(B) izkUrh; Lrj ij

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

22. i;Zos{k.k dk vFkZ gS %

(A) laLFkkvksa dk lq/kkj

(B) f'k{kd dk fodkl

(C) v/;kiu lq/kkj

(D) mi;qZDr lHkh

23. i;Zos{k.k gksrk gS %

(A) mipkjkRed

(B) fu;fer

(C) yksdrU=h;

(D) mi;qZDr lHkh

24. i;Zos{k.k dk dk;Z {ks= gS %

(A) lkekU; iz'kklu

(B) 'kSf{kd dk;Z

(C) i;Zos{k.k ,oa vuqla/kku

(D) mi;qZDr lHkh

25. i;Zos{k.k dk eq[; y{k.k gS %

(A) vYidkfyd

(B) neukRed

(C) lg;ksxkRed

(D) vkSipkfjd
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26. The department can be created :

(A) By function

(B) By product

(C) By process

(D) All of the above

27. Types of supervision are :

(A) 5

(B) 10

(C) 12

(D) All of the above

28. Types of school inspection are :

(A) 2

(B) 3

(C) 4

(D) 5

29. Which of the following has written the

facts related to the formation of the sports

planet?

(A) Surface

(B) Wall

(C) Windows

(D) All of the above

30. If the total number of teams not in power

of two given the :

(A) Byes

(B) Seeded

(C) Special Seeded

(D) None of above

26. foHkkx cuk;k tk ldrk gS %

(A) dk;Z ds }kjk

(B) mRikn ds }kjk

(C) izfØ;k ds }kjk

(D) mi;qZDr lHkh

27. i;Zos{k.k ds izdkj gksrs gSa %

(A) ik¡p

(B) nl

(C) ckjg

(D) mi;qZDr lHkh

28. fo|ky; fujh{k.k ds izdkj gSa %

(A) 2

(B) 3

(C) 4

(D) 5

29. ØhM+k xzg ds fuekZ.k ls lEcfU/kr rF;
fuEufyf[kr esa dkSu lk gS\

(A) lrg

(B) nhokj

(C) f[kM+fd;k¡

(D) mijksDr lHkh

30. ;fn nh xbZ Vheksa dh dqy la[;k nks dh
ikoj esa ugha gS] fn;k tkrk gS %

(A) ckbZt

(B) lhMsM

(C) Lis'ky lhMsM

(D) mi;qZDr esa ls dksbZ ugha
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31. The main goal of supervision is :

(A) Assessment of teachers

(B) Development of group ethics

(C) Improving teaching-learning

process

(D) Evaluation of school system

32. The Body of the school is called :

(A) Administration

(B) Management

(C) Organization

(D) None of these

33. Resource with limited area is :

(A) Administration

(B) Organization

(C) Management

(D) None of these

34. What is as the soul of the school?

(A) Management

(B) Administration

(C) Organization

(D) None of these

35. A broader term is :

(A) Administration

(B) Management

(C) Supervision

(D) All of the above

31. i;Zos{k.k dk eq[; y{; gS %

(A) f'k{kdksa dk ewY;kadu

(B) lewg uSfrdrk dk fodkl

(C) f'k{k.k&vf/kxe dh izfØ;k esa lqèkkj

(D) fo|ky; O;oLFkk dk ewY;kadu

32. fo|ky; dk ^'kjhj* dgk tk ldrk gS %

(A) iz'kklu dks

(B) izcU/ku dks

(C) laxBu dks

(D) buesa ls dksbZ ugha

33. lhfer {ks= okyk lalk/ku gS %

(A) iz'kklu

(B) laxBu

(C) izcU/ku

(D) buesa ls dksbZ ugha

34. fo|ky; dh vkRek ds :i esa dkSu gS\

(A) izcU/ku

(B) iz'kklu

(C) laxBu

(D) buesa ls dksbZ ugha

35. vf/kd O;kid 'kCn gS %

(A) iz'kklu

(B) izcU/ku

(C) fujh{k.k

(D) mi;qZDr lHkh

[P.T.O.]
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36. The meaning of the Record is :

(A) Income and expenditure account

(B) Method of spending

(C) Method of finding sources in

income

(D) Written account of works from start

to finish

37. Negative motivation is based on :

(A) Fear

(B) Reward

(C) Money

(D) Status

38. Organisation establishes relationship

between :

(A) People, work and resources

(B) Customer, work and resources

(C) People, work and management

(D) Customer, work and management

39. Organisation is a process of :

(A) Identifying and grouping of work

to be performed

(B) Defining and delegating the

responsibility and authority

(C) Both (A) and (B)

(D) None of these

40. Responsibility always flows from :

(A) Superior to subordinate

(B) Subordinate to superior

(C) Both (A) and (B)

(D) None of these

36. vfHkys[k dk vFkZ gksrk gS %

(A) vk;&O;; dk ys[kk&tks[kk

(B) O;; djus dh fof/k

(C) vk; ds lzksr Kkr djus dh fof/k

(D) izkjEHk ls vUr rd dk;ksZa dk fyf[kr
ys[kk&tks[kk

37. udkjkRed izsj.kk vk/kkfjr gS %

(A) Mj ij

(B) buke ij

(C) /ku ij

(D) ntkZ ij

38. laxBu us fuEu ds e/; laca/k LFkkfir fd;k %

(A) yksx] dke vkSj lalk/ku ds

(B) xzkgd] dk;Z vkSj lalk/ku ds

(C) yksx] dke vkSj izca/ku ds

(D) xzkgd] dk;Z vkSj izca/ku ds

39. laxBu ,d izfØ;k gS %

(A) fd, tkus okys dk;Z dh igpku
djuk vkSj bldk lewg cukuk

(B) ftEesnkjh vkSj vf/kdkj dks
ifjHkkf"kr djuk vkSj lkSaiuk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

40. ftEesnkjh ges'kk izokfgr gksrh gS %

(A) v/khuLFk ls Js"B

(B) Js"B ls v/khuLFk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
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41. The size of the swimming pool should be :

(A) L and T shaped

(B) P and Q shaped

(C) M and G shaped

(D) All of the above

42. The first stage of implementation is :

(A) Administration

(B) Management

(C) Organization

(D) None of these

43. POSDCORB word was given by :

(A) Luther Gulick

(B) Sear

(C) Jaswant Singh

(D) None of these

44. Education administration is essential for :

(A) Teacher

(B) Parents

(C) Students

(D) All of the above

45. The meaning of Planning is :

(A) Deciding on problems

(B) Cleaning the school

(C) Making school time table

(D) All of the above

41. Lohfeax iwy dk vkdkj gksuk pkfg, %

(A) L rFkk T vkdkj dk

(B) P rFkk Q vkdkj dk

(C) M rFkk G vkdkj dk

(D) mijksDr lHkh

42. dk;kZUo;u dh izFke voLFkk gS %

(A) iz'kklu

(B) izcU/k

(C) laxBu

(D) buesa ls dksbZ ugha

43. 'POSDCORB' 'kCn fn;k Fkk %

(A) ywFkj xqfyd us

(B) lh;j us

(C) tloUr flag us

(D) buesa ls dksbZ ugha

44. f'k{kk iz'kklu gsrq vko';d gS %

(A) v/;kid

(B) ekrk&firk

(C) fo|kFkhZ

(D) mi;qZDr lHkh

45. ;kstuk dk vFkZ gS %

(A) leL;kvksa ij fu.kZ; ysuk

(B) fo|ky; dh LoPNrk djuk

(C) fo|ky; dh le;&lkj.kh cukuk

(D) mi;qZDr lHkh

[P.T.O.]
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46. Organization means "Planning the Work"

and administration of :

(A) Controlling

(B) Processing information

(C) Decision-making

(D) Working the plan

47. Which is principle of organization and

administration?

(A) Clear and good administration

(B) Indiscipline

(C) Negative thinking

(D) Working the plan

48. For successful programme, which is very

important?

(A) Organisation

(B) Administration

(C) Both (A) and (B)

(D) None of these

49. Which is not related to elements of

organization and administration?

(A) Staff

(B) Directing

(C) Co-ordination

(D) Co-operation of guardian

50. A leader must possess the following

except :

(A) Missionary zeal

(B) Commitment

(C) Persuasiveness

(D) Selfishness

46. laxBu dk vFkZ gS ̂ dk;Z dh ;kstuk cukuk*
vkSj iz'kklu dk %

(A) fu;af=r djuk

(B) izlaLdj.k dh tkudkjh

(C) fu.kZ; ysuk

(D) ;kstuk ij dke djuk

47. laxBu vkSj iz'kklu dk fl)kUr gS %

(A) Li"V vkSj vPNk iz'kklu

(B) vuq'kklughurk

(C) udkjkRed lksp

(D) ;kstuk ij dke djuk

48. lQy dk;ZØe ds fy, dkSu cgqr egRoiw.kZ gSa\

(A) laxBu

(B) iz'kklu

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

49. dkSu laxBu vkSj iz'kklu ds rRoksa ls
lEcfUèkr ugha gS\

(A) deZpkjh

(B) lapkyu djus okyk

(C) leUo;u

(D) vfHkHkkod dk lg;ksx

50. ,d usrk esa fuEufyf[kr jguh pkfg, ,d
dks NksM+dj %

(A) fe'kujh mRlkg

(B) izfrc)rk

(C) fo|k

(D) LokFkZijrk
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51. How many type of tournaments are there?

(A) 3

(B) 4

(C) 5

(D) 6

52. How many type of combination
tournaments are there?

(A) 2

(B) 3

(C) 4

(D) 5

53. What is the name of committee that
announces the dates and venue of
tournament?

(A) Announcement Committee

(B) Transport Committee

(C) Official Committee

(D) Publicity Committee

54. What is the formula to calculate the
number of matches in a single league
tournament ?

(A)
 N N 1

2

(B)
 N N 1

2

(C) N 2

(D)
N 1
2

55. Formula for total number of matches in
double league tournament is :

(A) N 1

(B) N 1

(C)  N N 1

(D)  N N 1

51. VwukZesUV fdrus izdkj ds gksrs gSa\
(A) 3

(B) 4

(C) 5

(D) 6

52. dkWfEcus'ku VwukZesUV fdrus izdkj ds gksrs gSa\

(A) 2

(B) 3

(C) 4

(D) 5

53. bl lfefr dk uke D;k gS tks VwukZesUV dh
rkjh[kksa vkSj LFkku dh ?kks"k.kk djrh gS\

(A) ?kks"k.kk lfefr

(B) ifjogu lfefr

(C) vkf/kdkfjd lfefr

(D) izpkj lfefr

54. ,dy yhx VwukZesUV esa eSpksa dh la[;k dh
x.kuk djus dk lw= D;k gS\

(A)
 N N 1

2

(B)
 N N 1

2

(C) N 2

(D)
N 1
2

55. Mcy yhx VwukZesUV esa dqy eSpksa dh la[;k
ds fy, QkWewZyk gS %
(A) N 1

(B) N 1

(C)  N N 1

(D)  N N 1



1109-D/370 (  14  )

56. Guidance is required :

(A) For administrative set-up

(B) For the school

(C) Both (A) and (B)

(D) None of these

57. What is involved in the organisation?

(A) Paid

(B) Prada

(C) Process

(D) None of these

58. The principle of contact cooperation is

contained :

(A) In the organization

(B) In the management

(C) In the administration

(D) None of these

59. The dynamic and functional side of

management is :

(A) Administration

(B) Organization

(C) Both (A) and (B)

(D) None of these

60. Characteristic of supervision is :

(A) wide Area

(B) narrowed Area

(C) short term

(D) formal

56. funsZ'ku vko';d gS %

(A) iz'kklfud <kaps ds fy,

(B) fo|ky; ds fy,

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

57. laxBu esa 'kkfey D;k gS\

(A) vnk

(B) iznk

(C) izfØ;k

(D) buesa ls dksbZ ugha

58. lEidZ lg;ksx dk fl)kUr 'kkfey gS %

(A) laxBu esa

(B) izcU/ku esa

(C) iz'kklu esa

(D) buesa ls dksbZ ugha

59. izcU/ku dk xfr'khy rFkk fØ;kRed i{k
gS %

(A) iz'kklu

(B) laxBu

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

60. i;Zos{k.k dh fo'ks"krk gS %

(A) foLr̀r {ks=

(B) ladqfpr {ks=

(C) vYidkfyd

(D) vkSipkfjd
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61. Intramurals are significant for :

(A) Physical development

(B) Mental  development

(C) Social development

(D) All of the above

62. Which sports competition is organised

within the school?

(A) Inter-state

(B) Extramural

(C) Intramural

(D) None of these

63. Tournaments are helpful for the

development of :

(A) Social qualities

(B) Selection of players

(C) Sports skills

(D) All of the above

64. National Sports Day in India is celebrated

every year on :

(A) 29th July

(B) 29th September

(C) 29th October

(D) 29th August

65. Tabular method is used for fixtures in :

(A) Knock-out tournament

(B) Challenge tournament

(C) League tournament

(D) None of these

61. bUVªkE;wjy ds fy, egRoiw.kZ gS %

(A) 'kkjhfjd fodkl

(B) ekufld fodkl

(C) lkekftd fodkl

(D) mi;qZDr lHkh

62. Ldwy ds vUnj dkSu lh [ksy izfr;ksfxrk dk
vk;kstu fd;k tkrk gS\

(A) varjjkT;h;

(B) ,DLVªkE;wjy

(C) bUVªkE;wjy

(D) buesa ls dksbZ ugha

63. VwukZes.V fodkl ds fy, lgk;d gS %

(A) lkekftd xq.k

(B) f[kykfM+;ksa dk p;u

(C) [ksy dkS'ky

(D) mi;qZDr lHkh

64. Hkkjr esa jk"Vªh; [ksy fnol izfro"kZ euk;k
tkrk gS %

(A) 29 tqykbZ dks

(B) 29 flrEcj dks

(C) 29 vDVwcj dks

(D) 29 vxLr dks

65. Vscqyj fof/k dk iz;ksx fd;k tkrk gS %

(A) ukWdvkmV VwukZesUV esa

(B) pSysat VwukZesUV esa

(C) yhx VwukZesUV esa

(D) buesa ls dksbZ ugha
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66. Director is required :

(A) Far sightedness

(B) Imagination power

(C) Experience

(D) All of the above

67. Clear knowledge of objectives and goals

is essential :

(A) To decide

(B) To communicate

(C) To coordinate

(D) None of these

68. Administration is concerned with :

(A) Taking care of something or

someone

(B) Only rule

(C) Both (A) and (B)

(D) None of these

69. The purpose of administration is :

(A) to reduce expenses

(B) to provide effectiveness

(C) to create the right environment

(D) All of the above

70. What is necessary to know profit and

loss?

(A) Budget formulation

(B) Planning

(C) Both (A) and (B)

(D) None of these

66. funsZ'kd ds fy, vko';d gS %

(A) nwj&nf̀"V

(B) dYiuk 'kfDr

(C) vuqHko

(D) mi;qZDr lHkh

67. mn~ns';ksa o y{;ksa dk Li"V Kku vko';d
gS %

(A) fu.kZ; ds fy,

(B) lEizs"k.k ds fy,

(C) leUo;u ds fy,

(D) buesa ls dksbZ ugha

68. iz'kklu lEcfU/kr gS %

(A) fdlh oLrq ;k O;fDr dh ns[kHkky
ls

(B) dsoy 'kklu ls

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

69. iz'kklu dk mn~ns'; gS %

(A) viO;; de djuk

(B) izHkko'khyrk iznku djuk

(C) mfpr okrkoj.k dk fuekZ.k djuk

(D) mi;qZDr lHkh

70. ykHk ;k gkfu tkuus ds fy, D;k vko';d
gS\

(A) ctV fuekZ.k

(B) ;kstuk fuekZ.k

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
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71. Formula for deciding the total number of
byes is :

(A) Next higher Power of 2–Total
teams

(B) Next higher Power of 2–Seeded
teams

(C) Total Teams–Next higher Power
of 2

(D) Next higher  Power of  4–Total
teams

72. First bye is given :

(A) Upper half last team

(B) Upper half first team

(C) Lower half first team

(D) Lower half last team

73. Seeded advantage is given to :

(A) Weaker team

(B) Medium weaker team

(C) Stronger team

(D) Very Poor team

74. What is the formula of deciding the bye in
Lower half?

(A)
Nb 1

2
(B)

Nb 1
2

(C)
Nb 1

2
(D)

Nb 1
100

75. Third bye is given to :

(A) Lower half last team

(B) Lower half first team

(C) Upper half first team

(D) Upper half last team

71. ckbZ r; djus dk lw= gS %

(A) 2 dh vxyh ?kkrkad & dqy Vhe

(B) 2 dh vxyh ?kkrkad & lhMsM Vhe

(C) dqy Vhe & 2 dh vxyh ?kkrkad

(D) 4 dh vxyh ?kkrkad & dqy Vhe

72. izFke ckbZ fn;k tkrk gS %

(A) Åijh vk/kk vafre Vhe

(B) Åijh vk/kk igyh Vhe

(C) fupyh vk/kk igyh Vhe

(D) fupyh vk/kk vafre Vhe

73. lhMsM ykHk fn;k tkrk gS %

(A) detksj Vhe dks

(B) e/;e detksj Vhe dks

(C) etcwr Vhe dks

(D) cgqr detksj Vhe dks

74. fupys vk/ks fgLls esa ckbZ r; djus dk lw=
D;k gS\

(A)
Nb 1

2
(B)

Nb 1
2

(C)
Nb 1

2
(D)

Nb 1
100

75. rhljh ckbZ nh tkrh gS %

(A) fupyk vk/kk vkf[kjh Vhe dks

(B) fupyk vk/kk igyh Vhe dks

(C) Åijh vk/kk igyh Vhe dks

(D) Åijh vk/kk vkf[kjh Vhe dks
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76. What is the main objective of intramural
competition?

(A) Maximum participation

(B) Develop leadership quality

(C) Develop co-operation

(D) All of the above

77. The activities which are performed outside
the walls is called :

(A) Intramural Tournament

(B) Extramural Tournament

(C) Both (A) and (B)

(D) None of these

78. Sudden death tournament is called :

(A) Combination Tournament

(B) Single challenge Tournament

(C) Single knock-out Tournament

(D) Single League Tournament

79. How the teams are rotated in cycles in
the cyclic method?

(A) Anti clockwise

(B) Clockwise

(C) Right to left

(D) Top to bottom

80. Burger tournament is what type of
tournament?

(A) League tournament

(B) Challenge tournament

(C) Combination tournament

(D) Knock-out tournament

76. baVªkE;wjy izfr;ksfxrk dk eq[; mn~ns'; D;k gS\

(A) vf/kdre Hkkxhnkjh

(B) usrR̀o dh xq.koÙkk fodflr djuk

(C) lg;ksx fodflr djuk

(D) mi;qZDr lHkh

77. pkjnhokjh ds ckgj dh tkus okyh xfrfofèk;ksa
dks dgk tkrk gS %

(A) baVªkE;wjy izfr;ksfxrk

(B) ,DLVªkE;wjy izfr;ksfxrk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

78. lMu MsFk VwukZesaV dgk tkrk gS %

(A) dkWEchus'ku VwukZesaV

(B) flaxy pSysat VwukZesaV

(C) flaxy ukWd&vkmV VwukZesaV

(D) flaxy yhx VwukZesaV

79. lkbfDyd fof/k esa Vheksa dks pØ esa dSls
?kqek;k tkrk gS\

(A) ,aVh DykWdokbt

(B) DykWdokbt

(C) nk;sa ls cka;s

(D) Åij ls uhps

80. cxZj VwukZesaV fdl izdkj dk VwukZesUV gS\

(A) yhx VwukZesaV

(B) pSysat VwukZesaV

(C) dkWEchus'ku VwukZesaV

(D) ukWd&vkmV VwukZesaV
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81. In which tournament strong teams may
have the possibility to be eliminated in

the preliminary round?

(A) League tournament

(B) Knock out tournament

(C) Challenge tournament

(D) League cum league tournament

82. In which type of tournament, a team once
defeated gets eliminated from the
tournament?

(A) League tournament

(B) Knock-out tournament

(C) Challenge tournament

(D) Round Robin tournament

83. Which one of the following method is not
used for preparing fixture in league or
round robin tournament?

(A) Staircase method

(B) Cyclic method

(C) Combination method

(D) Tabular method

84. How many methods can be used for
preparing fixture in a league tournament?

(A) 2

(B) 4

(C) 3

(D) 5

85. How many byes will be given if 19 teams
are participating in a knockout tournament?

(A) 12

(B) 13

(C) 14

(D) 15

81. fdl VwukZesUV dh etcwr Vheksa ds izkjafHkd
nkSj esa ckgj gksus dh laHkkouk gks ldrh gS\

(A) yhx VwukZesUV

(B) ukWdvkmV VwukZesUV

(C) pSysat VwukZesUV

(D) yhx de yhx VwukZesUV

82. fdl izdkj ds VwukZesUV esa ,d Vhe gkj
tkrh gS rks VwukZesUV ls ckgj gks tkrh gS\

(A) yhx VwukZesUV

(B) ukWdvkmV VwukZesUV

(C) pSysat VwukZesUV

(D) jkm.M jkWfcu VwukZesUV

83. yhx vFkok jkm.M jkWfcu VwukZesUV esa fQDlpj
rS;kj djus ds fy, fuEufyf[kr esa ls fdl
fof/k dk mi;ksx ugha fd;k tkrk gS\
(A) LVs;jdsl fof/k
(B) lkbfDyd fof/k
(C) dkWEchus'ku fof/k
(D) Vscqyj fof/k

84. yhx VwukZesUV esa fQDlpj rS;kj djus ds
fy, fdruh fof/k;ksa dk mi;ksx fd;k tkrk gS\

(A) 2

(B) 4

(C) 3

(D) 5

85. ;fn 19 Vhesa ukWdvkmV VwukZesUV esa Hkkx ys
jgh gS] rks fdrus ckbZ fn, tk,axs\

(A) 12

(B) 13

(C) 14

(D) 15

[P.T.O.]
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86. Which tournament is used if the number

of teams is very large and the tournament

has to be completed quickly?

(A) League tournament

(B) Challenge tournament

(C) Combination tournament

(D) Knock-out tournament

87. King tournament comes under which type

of tournament?

(A) Challenge tournament

(B) Combination tournament

(C) League tournament

(D) Knock-out tournament

88. Which point system is most commonly

used for league tournament at present?

(A) Canadian (B) British

(C) American (D) Indian

89. What kind of tournament does the ladder

type belong?

(A) League tournament

(B) Challenge tournament

(C) Knock-out tournament

(D) Combination tournament

90. How many teams are given super seeding

in knock-out tournament?

(A) In power of two

(B) 3

(C) N–2

(D) N–3

86. vxj Vheksa dh la[;k cgqr vf/kd gks vkSj
VwukZesUV dks tYnh lEiUu djkuk gks rks
fdl VwukZesUV dk iz;ksx fd;k tkrk gS\

(A) yhx VwukZesaV

(B) pSysat VwukZesaV

(C) dkWEchus'ku VwukZesaV

(D) ukWd&vkmV VwukZesaV

87. fdax VwukZesaV fdl izdkj ds VwukZesaV ds
vUrxZr vkrk gS\

(A) pSysat VwukZesaV

(B) dkWEchus'ku VwukZesaV

(C) yhx VwukZesaV

(D) ukWd&vkmV VwukZesaV

88. orZeku esa yhx VwukZesaV ds fy, dkSu lh
vad i)fr vf/kd iz;ksx gksrh gS\

(A) dSusfM;u (B) fczfV'k

(C) vesfjdu (D) bf.M;u

89. ySMj izdkj fdl VwukZesaV ds vUrxZr vkrk gS\

(A) yhx VwukZesaV

(B) pSysat VwukZesaV

(C) ukWd&vkmV VwukZesaV

(D) dkWEchus'ku VwukZesaV

90. ukWd&vkmV VwukZesaV esa lqij lhfMax fdrus
Vheksa dks nh tkrh gS\

(A) nks dh ikoj esa

(B) rhu

(C) N–2

(D) N–3
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91. How many byes are given if 15 teams are
participating in a Knock-out tournament?

(A) 1 (B) 2

(C) 3 (D) 4

92. Which method is not deciding the winner
in a League tournament?

(A) British method

(B) American method

(C) Canadian method

(D) Indian method

93. What is the formula of British method for
deciding the winner in League tournament?

(A) 
Total Points Obtained

100
Total Possible points

(B) 
Total Points

100
Total Possible points

(C)
Total Points

Total Possible points

(D)
Total Possible Points

Total Points

94. Formula for deciding the total number of
teams in upper half is :

(A)
N 1
2

(B)
N 1
2

(C)
 N N 1

2
(D) None of these

95. Formula for deciding the total number of
teams in Lower half is :

(A)
N 1
2

(B)
N 1
2

(C)
N 1
2

(D)   
N 1
2

91. ;fn 15 Vhesa ukWd&vkmV VwukZesUV esa Hkkx ys
jgh gS] rks fdrus ckbZ fn, tkrs gSa\

(A) 1 (B) 2

(C) 3 (D) 4

92. dkSu lk rjhdk yhx VwukZesUV esa fotsrk dk
QSlyk ugha djrk\

(A) fczfV'k fof/k

(B) vesfjdu fof/k

(C) dSusfM;u fof/k

(D) bafM;u fof/k

93. yhx VwukZesUV esa fotsrk r; djus ds fy,
fczfV'k i)fr dk lw= D;k gS\

(A) 
ikz Ir dyq vda

dyq lHa ko vda
100

(B) 
dyq vad

dyq laHko vda
100

(C)
dyq vda

dqy lHa ko vda

(D)
dyq lHa ko vda

dyq vda

94. Åijh gkQ esa Vheksa dh dqy la[;k r;
djus dk QkewZyk gS %

(A)
N 1
2

(B)
N 1
2

(C)
 N N 1

2
(D) buesa ls dksbZ ugha

95. yksvj gkWQ esa Vheksa dh dqy la[;k r;
djus dk QkewZyk gS %

(A)
N 1
2

(B)
N 1
2

(C)
N 1
2

(D)   
N 1
2

[P.T.O.]
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96. Byes team / player will play directly in :

(A) First round

(B) Second round

(C) Third round

(D) Quarter round

97. Special seeded is given :

(A) In power of 2

(B) In power of 3

(C) In power of 4

(D) None of these

98. Special seeded team / player will play

directly in :

(A) First round

(B) Second round

(C) Quarter final

(D) Final

99. League tournament is also known as :

(A) Knock-out tournament

(B) Challenge tournament

(C) Cob web tournament

(D) Round Robin tournament

100. What is the method of deciding winner in

American method?

(A) 
Matches won

100
Matches played

(B) 
Matches played

100
Matches won

(C) Both (A) and (B)

(D) None of the above

96. ckbZ Vhe@f[kykM+h lh/ks [ksysaxs %

(A) igys nkSj esa

(B) nwljs nkSj esa

(C) rhljs nkSj esa

(D) DokVZj Qkbuy esa

97. Lis'ky lhMsM fn;k tkrk gS %

(A) 2 ds ikoj esa

(B) 3 ds ikoj esa

(C) 4 ds ikoj esa

(D) buesa ls dksbZ ugha

98. Lis'ky lhMsM Vhe@f[kykM+h lh/ks [ksysaxs %

(A) igys nkSj esa

(B) nwljs nkSj esa

(C) DokVZj Qkbuy esa

(D) Qkbuy esa

99. yhx VwukZesUV dks tkuk tkrk gS %

(A) ukWd&vkmV VwukZesUV

(B) pSysat VwukZesUV

(C) dkWc osc VwukZesUV

(D) jkmUM jkWfcu VwukZesUV

100. vesfjdh i)fr esa fotsrk r; djus dk
rjhdk D;k gS\

(A) 
thrs epS

[kys s x, epS 100

(B) 
[kys s x, eSp

thrs epS 100

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr esa ls dksbZ ugha
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ROUGH WORK/jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


